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2A:

3 ZOH SX ST(ARISX/FHSHSKE)
Rl ZoHe! =X S& (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
TRE Z0HO! OIAfA WS A A
250,000 1 Al 2H+23] 500
202 04dl 3,240 3,240
01 2L AL 3,240 3,240
OENEICIEEESS
90,0002 38 * 122 3,240
203 gF=4| 1,650 1,650
03 A=A 2= 1,650 1,650
OHMHA=SXIAIR 213
150,000& * 112 1,650
401 AlEHIZ 2018 92,000 25,000 67,000
01 Al&H| 92,000 25,000 67,000
OZMASXAIE ExSAt
20,000,002 20,000
OFOHIMEAIL OIIEE BAELAL
50,000,000 50,000
OHYUMAUEE FX1S PERE U= 2
cl EUS A= 22,000,000 22,000
O HF=AIE SIIEED| elE X2 2,325 2,140 185
= 1,395
= 279
= 651
307 elztol & 2,325 2,140 185
= 1,395
[ 279
Ea 651
11 AMEISXAEEES 2,325 2,140 185
O NFAIE SI1FED| elg XI&
2,325,000& 2,325
= 1,395
== 279
[Ea 651
ZIONQI MICH At 2tel X2 84,000 86,000 22,000
= 25,200
= 58,800
307 elztol & 84,000 86,000 22,000
= 25,200
Ea 58,800
1 AMISXAEEXS 84,000 86,000 A2,000
OZOHIAICH Atefl 2t XI&
84,000,000 84,000
== 25,200
o 58,800
MEXAH] XA 81,762 100,000 /18,238
= 40,881




SN OISR
3 ZOH SX ST(ARISX/FHSHSKE)
Rl ZoHe! =X S& (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 21,227
s 13,654
301 EtE NS 81,762 100,000 18,238
= 40,881
== 27,227
[Ea 13,654
01 AR 2EHSHS(RNEXRTH) 81,762 100,000 18,238
OdaXad X2 81,762,000& 81,762
= 40,881
=S 27,221
s 13,654
NAXES AMSIMHIA SXHARSG (AIZEZOHQ! QHOtHER 20,630 0 20,630
%)
s 13,691
== 3,469
o 3,470
308 AXIHMSO0IA 20,630 0 20,630
= 13,691
= 3,469
o 3,470
1 SISt AS A 20,630 0 20,630
OXISXEE ASIAMHIA SXEAF (AI2HEOH
ol OHOLAHIA) 20,630,000& 20,630
[ 13,691
= 3,469
Ea 3,470
HOHeI=X SHAH ZEAHY 4,650,000 0 4,650,000
CH 2,320,000
[Ea 2,330,000
401 Al HIZL S 0HYI 4,650,000 0 4,650,000
CH 2,320,000
= 2,330,000
01 Al&H| 4,645,000 0 4,645,000
OZMA=SX SHAE ZEAS
4,645,000,000& 4,645,000
CH 2,317,505
Ea 2,327,49%
03 A& S THYI 5,000 0 5,000
OFMI=X SAHAE ZEAIE
5,000,000& 5,000
CH 2,4%
T 2,505
ZoHel Kl XI& (= XHA) 13,528 0 13,528
= 4,058




2 =
XMNXH- X}
o e o
Xt
o

ST (A SXN/FHAAHSKIR)
=aak =5

SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2

H

9,470

101 e124d| 13,528 0 13,528
4,058
9,470

M

04 JRHNZZ2XSE S 13,528 0 13,528

OF eI xtel 13,528,000 13,528
4,058
9,470

M

ZONQUEIAIE H=T A 23,990 0 23,990
7,197
16,793

M H

307 212t01™ 23,990 0 23,990
7,197
16,793

UMY

11 MBS XA

N 23,990 0 23,990
OHOIEI A&

> 2

23,990,000 23,990
7,197
16,793

MO

IIZHESH(ARISEX /I ZMEEH) 17,206,338 13,983,135 3,223,203
13,097,071

38,130
1,582,607
2,488,530

N3

fon

KHE AHEEAS 2,812,877 2,365,880 446,997
2,046,373
38,130
204,473

523,901

N

W

ATEE ASIAMHIA SXAIZ OIARIH S 2 Z 0] At 54,471 103,766 N49,295
)

e

38,130
8,17
8,170

Ao

0

308 AtXIE

ball

[

IS0l & 54,471 0 54,471
38,130
8,171
8,170

HH A

11 S 2SIt & AE AL 54,471 0 54,471
OJAtZtE S22 X3 A 54,471,000& 54,471
38,130
8,171
8,170

HOH A




K
x‘|il—|:
Ct2|:

Ofl &F2H

MEE
Ofl &k2h

M H

116,8%
23,379
93,517

92,063

307 212t01™

M

116,8%
23,379
93,517

92,063

24,833

116,896,000

M

116,8%

116,8%
23,379
93,517

92,063

24,833

HH W

2,045,141
1,636,113
122,708
286,320

1,743,019

302, 122

307 212t01&

Mo W

2,045,141
1,636,113
122,708
286,320

1,743,019

302,122

11 ARRISXAIEE
OXE2ZAIY RIA

2,045,141,000&

MW

2,045,141
2,045,141
1,636,113
122,708
286,320

1,743,019

302, 122

Xl

AR HIE

S AR A&

M

18,200
3,640
14,560

18,200

307 212t01&

A H

18,200
3,640
14,560

18,200

10 Al SXAEEHE 22X

OXNYR2HEH SAL =

18,200,000

M

18,200

18,200
3,640
14,560

18,200

12
=
i
£
o
0
02

MW

218,765
153,136
19,689
45,940

209,357

9,408

307 212t01™

Mo W

218,765
153,136
19,689
45,940

209,357

9,408

©
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K
I-I il—l :
Ct2|:

> M4y
e
=0z i
o i >4

>

[

t

|
L

HI

T AMBISX /I ZHEEE)
S

S LRE-L

- BB - MIRAY - BAS

Ofl &F2H

MEE
Ofl &k2h

10 MEISXAIEHE2EHIEX

OX S XEHH 249

218,765,000

HH W

218,765
218,765
153,136
19,689
45,940

209,357

2s29s 4309 243 X8

HH W

321,404
257,124
19,286
44,994

159,725

161,679

308 XtXIEMSO0IH

HoH W

321,404
257,124
19,286
44,99

321,404

A&
321,404,000

Mo W

321,404

321,404
257,124
19,286
44,994

321,404

AXEEH 243 X3

M H

23,000
4,600
18,400

23,000

307 212to1d

A H

23,000
4,600
18,400

23,000

10 Al SXIAIE2EHE 23|
OXY X2 gdat X

HT

EN

[0

23,000,000&

UMY

23,000

23,000
4,600
18,400

23,000

12
>
!
x
o
y
or
HL
S

M

15,000
3,000
12,000

15,000

402 QIF X201 &

A H

15,000
3,000
12,000

15,000

02 QIZtXt= AL 2

15,000,000

M

15,000
15,000

3,000
12,000

15,000

hoH

14,393,461
11,050,698
1,378,134

11,617,255

2,776,206




2 =
X XH -
o e

=aak

el =X/ =MaEE)

2E(A
A A EER-E)

Ofl aro dus HD=2

SN B S(B) - NIRAY - BES 0l &0

H

1,964,629

2=2=X 260,612 172,620 87,992
208,480
26,066
26,066

Mo W

301 LENZ 260,612 172,620 87,992
208,480
26,066
26,066

Mo

01 Al EHATZ2(2REZME) 260,612 172,620 87,992
260,612,000 260,612
208,480
26,066
26,066

HH W

A= 13,347,209 10,821,667 2,525,542
10,677,767
1,334,721
1,334,721

HH W

301 2 &= 12,900,000 10,533,667 2,366,333
10,320,000
1,290,000
1,290,000

HoH W

01 Al EE A 6IZS (2 DEXTHR) 12,900,000 10,533,667 2,366,333

12,900,000,000& 12,900,000
10,320,000
1,290,000
1,290,000

Mo W

307 212t01& 447,209 288,000 159,209
357,767
44,721
44,721

MW

10 MEISXAIEHE2EHIE2X 447,209 288,000 159,209
OAlE dAHI=SN 447,209,000 447,209
357,767
44,721
44,721

Mo W

33,864

26,053

7,811

33,864

26,053

7,811

33,864,000

33,864
33,864

26,053

7,811

A

131,867
105,493

116,730

15,137
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FA FUS
B oS RIH (AEI =X /FHAHSTR)
SI9l FHUHE S FOIMBAHIA N (cre:xigl)
SA - B BRA(SH) - HRA - of v e HIDE2
= 133,650
=S 111,338
s 662,564
Ol 25 8,000 8,3% AN3%
307 21201 & 8,000 8,000 0
01 22X 72| 8,000 8,000 0
OO0 MAHPEHI(SS L FII7B)
3,000,000& 3,000
OMdi+E28 FL(PSHE &)
5,000,000& 5,000
MolS21=(0IxHe! S2+75Hl) X 69,720 93,400 A23,680
=S 69,720
201 er23| 4,360 0 4,360
= 4,360
01 AFS2t2ltl 3,000 0 3,000
OFHAIE EXE X 3,000,000& 3,000
[ 3,000
02 S3=gHl 1,360 0 1,360
OMoi=2I| S&L3 360,000 360
== 360
OF2F0 2| 1,000,000& 1,000
= 1,000
301 EtE N = 2,000 1,000 1,000
= 2,000
11 AALEIXIES 2,000 1,000 1,000
OMdi+= u=Hl 2,000,000 2,000
< 2,000
307 @I2to| & 63,360 92,400 A29,040
== 63,360
01 22X+ &H| 63,360 92,400 A\29,040
OO0l e 54| 40,360,000 40,360
= 40,360
OMdi+==2= & 23,000,000 23,000
= 23,000
SOl L= O ¥ ZMHl X 8,700 8,700 0
301 LELEE S 8,700 8,700
02 A2 EH LGS (FHAAS, NWE) 8,700 8,700
OS20! Y L5 2IH)
1,200,000& 1,200
O™SAAIZ AL ZAIEl X3 3,000,000& 3,000
ORcN=g Xkt MLl K&
4,500,000 4,500
Oef2As =22 & N 174,800 167,500 7,300
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A ==X
BB oM E NI (A=K /FH A HETR)
Bel: FHAANS S FUMENHA XA (EEEE))
SA - B GR(31) - HIRAY - BES il &k e HlmS2
201 Let2| 6,000 6,000
01 Ar2eltl 6,000 6,000
Oget===H| 6,000
-0IRET| NFIIS A B =
6,000&=1,0004 6,000
301 LEHBNEF 113,000 113,000
03 AFSI 2 &A= (KIZTHEA) 113,000 113,000
OMBIAAAHIXIR (807+)
312,500 80 25,000
OZH(4, =4) 0A2HS |z
20,000& 2,200 *23| 88,000
307 QI2Hol M 55,800 48,500 7,300
02 QIHB AT E R 55,800 48,500 7,300
O3 XA 55,800,000& 55,800
NE=X4H 26,720 66,720 40,000
201 B2 AL| 16,400 16,400 0
01 ArR2eltl 16,400 16,400 0
Oger=2| 16,400
-0l SAIMHIA ot 2t S HMZ
8,000& *1,000= 8,000
-20Pl= SAAMHIA S22 WA
2,000& *2,0004 4,000
-0l SAMHIA 22 89 W&
50,0003 = 1404 700
SIAANUE=Z EE2E &2 ME
50,0002 * 140K 700
-SX&EH 822 M&
2,000& *1,5004 3,000
202 04d| 4,320 4,320
01 =WO4bI 4,320 4,320
OJ|ZMEARFX 90,0003 x4H 123 4,320
307 QI2H0| A 6,000 6,000
02 QIRHHAAIHE X 6,000 6,000
OAM2IZ2XAIES K& At
4,000,000 4,000
OAMISXAIE SAHL €8 U=
2,000,000 2,000
II;‘-‘!XP%@ ABIAHIA S XA (KT ALS MBI A S XEAL 45,500 55,000 A9,500
A
s 32,600
= 6,450
= 6,450
201 B2 AL| 2,500 2,500 0
s 2,500
01 At 22|l 2,500 2,500 0
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FA FUS
BB oM E NI (A=K /FH A HETR)
el FHYAS S FUdEAHIA X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OXIS At ETAIY E22 M
2,500,000& 2,500
= 2,500
308 XXM SOIA 43,000 52,500 29,500
s 30,100
== 6,450
o 6,450
11 SI[2S0 e YA AS A 43,000 52,500 29,500
OXIALEI MBI A S XIARY
43,000,000 43,000
s 30,100
s 6,450
s 6,450
S At ALl 2HI X & 240,670 232,486 8,184
= 101,628
= 139,042
101 @124H| 225,400 217,666 7,734
= 101,628
o 123,772
03 SRH(RINHA) 222+ 123,772 117,730 6,042
OSE Atdll 22l At 123,772
-Jles 2,308,600 *3H 12 *102% 84,772
= 50,814
o 33,958
=g S 13,000,000 *3& 39,000
MU ORINZENSES 101,628 99,936 1,692
OSE Atdll 22l At 2,823,000 x3H 122 101,628
= 50,814
Ea 50,814
202 04| 4,320 4,320
01 2LHA b 4,320 4,320
OSE At 22l Al 120,0002x3& * 122 4,320
04 HSRESS 10,950 10,500 450
4 BRA(RIHA)22N BEERES S 10,950 0 10,950
OSeAtdZeIA HS2Es
1,900,000 3% 5,700
OSEAtdI22IAL 22 ASEES
1,750,000 3% 5,250
ANZ7 SEAtZe] XA (SSAASXELHA HA) 11,400 10,000 1,400
(2X)
= 5,700
T 5,700
201 er23 | 3,700 3,010 690
= 1,850




SN OISR
3 FHAHSKA (AR S/ HLAHSKIZ)
SI9l FHUHE S FOIMBAHIA N (cre:xigl)
SA - B BRA(SH) - HRA - of v e HIDE2
[Ea 1,850
01 Al 22IH| 3,700 3,010 690
O+ 3,100
-ArelEel 2| 3,100, 0002 3,100
2 1,550
2 1,550
O=g+y 600
—SEMEY S /LY
200,000 x3E*13] 600
= 300
s 300
202 04| 2,000 2,000 0
= 1,000
s 1,000
01 2LHoIH 2,000 2,000 0
OSEAtAIZCIAL NS &4
2,000,000 2,000
= 1,000
Ea 1,000
301 EetE NS 5,700 4,990 710
= 2,850
o 2,850
01 Al 2E A S(SRNEXMHE) 5,700 4,990 710
OAHHIZ2I AP (60D} ) 5,700,000& 5,700
= 2,850
s 2,850
KNEAR 28 28 XIS 179,650 146,250 33,400
= 6,000
Ea 173,650
203 2=l 2,250 2,250
03 A= PR FA| 2,250 2,250
OXG A 2HEoAM 2R 21E2
375,000 +62] 2,250
307 212+01& 177,400 144,000 33,400
< 6,000
s 171,400
03 M EE2SHIEX 111,400 78,000 33,400
OXN S22 ZE M 22|
111,400,000& 111,400
= 6,000
o 105,400
11 AMISXAIEEX 66,000 66,000 0
OXISAZI 2SN 22 s /TS
5,000,000& 5,000
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SN OISR
S FUHSK (A EX/FHLHSKE)
SI9l FHUHE S FOIMBAHIA N (cre:xigl)
SN - ZB - C9(B) - MRAY - BES il &k e HlmS2
ONANEIZHE AT ALst A
12,000,000& 12,000
OSHNIGABEHE AN St (0ls=
Az 29) 2,500,000 * 144 2~ 35,000
Oots=EXHe =&
1,000,000 1404 2 14,000
SHs IEE SEMUIA X2 138, 164 117,600 20,564
= 97,000
i 41,164
201 L2 | 82,800 57,600 25,200
s 57,960
i 24,840
01 A=R2teld| 82,800 57,600 25,200
OSHAt22| 2g9Z| 82,800,000& 82,800
s 57,960
= 24,840
301 LeENZ 55,364 60,000 24,636
s 39,040
= 16,324
01 MBI BEAG6Z2(2DEZTHA) 55,364 60,000 A4,636
OSYAtdl2Zel XI& 55,364,000 55,364
s 39,040
i 16,324
SHSXNIAMSEEE M 29 14,000 14,000 0
= 7,000
= 7,000
201 B2 AY| 5,600 5,600 0
= 2,800
= 2,800
01 AtR222lt| 5,600 5,600 0
OSHSXAMASEEAM 2
400,000 * 1400 &~ 5,600
& 2,800
i 2,800
301 LEBEF 8,400 8,400 0
& 4,200
= 4,200
11 SHALAHIXIEZ 8,400 8,400 0
OSHsXDASERE AN 2 I o &
PNIESTsl RS 600,000 * 1404 2 8,400
= 4,200
= 4,200
S - dRte] - 22 AASMEIA 9,000 10,000 21,000
& 6,300
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FA FUS
BB oM E NI (A=K /FH A HETR)
Bel: FHAANS S FUMENHA XA (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
[Ea 2,700
201 er23y| 5,000 6,000 21,000
=S 3,500
s 1,500
01 AtR2tc|Hl 5,000 6,000 21,000
Oget=ZH] 5,000
_=RUNREH BASHHA EHE S
& M 2,500 *2,000HK 5,000
= 3,500
= 1,500
202 048l 1,000 1,000 0
=S 700
s 300
01 2LHA b 1,000 1,000 0
O=sAgicl2d dASAEIA =
100,000 5 »23] 1,000
== 700
= 300
307 elztol & 3,000 3,000 0
= 2,100
Ea 900
02 2IZHBYAIHE A 3,000 3,000 0
O=XYR2LAH BASAHHIA 2
3,000,000 3,000
== 2,100
o 900
SEAtAZ2IAL TR (8 E+THHIO0IN 28 =2) 2,400 4,800 A2,400
= 1,200
= 1,200
101 @124H| 2,400 4,800 22,400
= 1,200
[Ea 1,200
03 SRH(RIH )22 U2+ 2,400 4,800 2,400
OBBATBIOIN 22 S
200,000« 1H =122 2,400
= 1,200
s 1,200
SE At 22l XIZ2dE 2 31,570 26,510 5,060
201 Ler23 | 31,570 26,510 5,060
01 At22t2lt] 6,260 3,480 2,780
Odgt=3ZH| 6,260
-ARES 7Y S 1,000,000 1,000
“HAMEH 4225 FY S
1,000,000 1,000
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SN OISR
M FHAANSKE(MEIEX/FHAHEXH)
Bel: FHAANS S FUMENHA XA (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
-HatEdIe(SAD] S)
1,000,000 1,000
-ROUFBIANABES S 3,260,000 3,260
02 S3=gHl 25,310 23,030 2,280
o882 & HA 6,240
“HIINE= 350,000 * 122 4,200
-SAEH A= 50,000 »2CH =128 1,200
-&ole= AIE= 70,0002 128 840
OXtgrs el 4,670
-EFEU 250,000 * 122 3,000
-AEEEE 670,000 *1CH 670
= NEr s ] 1,000,000 *1CH 1,000
OAIZ2 &= X 14,400
RSN BRAAY SRSB4
1,200,008 * 122 14,400
NATES ABIAEIA SXAI (RS OIS AL A 5,786 0 5,786
2)
= 4,050
< 868
[Ea 868
308 XtXIEMSO0IE 5,786 0 5,786
= 4,050
=S 868
s 868
11 B[ 2S0He 4 EAS A 5,786 0 5,786
OXISXEE ABIAHIA SXAIS(HE 0t
SALXHAIY) 5,786,000& 5,786
= 4,050
=S 868
s 868
AMEISXEEdE 29 XA 50,000 0 50,000
< 15,000
T 35,000
307 elztol & 50,000 0 50,000
= 15,000
= 35,000
03 2RI HEE=2SHIEx 50,000 0 50,000
OAZI=XIE 24 248l
50,000,000 50,000
= 15,000
o 35,000
AR SARIEC PR 277,688 235,412 42,276
= 34,161
= 13,325
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M FHAANSKE(MEIEX/FHAHEXH)
Selr AFSAEet+= EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
[Ea 230,202
AESAE 2CUI0IE K& - 54 81,495 75,546 5,949
= 32,465
= 8,116
= 40,914
101 @124H| 77,845 70,606 7,239
= 32,465
< 8,116
s 37,264
03 SR (RINHA) 222+ 41,258 39,980 1,278
OX&S A ZCIUIO0IE 41,258
-Jl2s 2,308,600 x1&* 122 %102% 28,258
= 19,800
& 4,950
= 3,508
=g S 13,000,000 x 1 13,000
04 JIZtN22 NS 2+ 36,587 30,626 5,961
O A 2CIYI0IE (1)
29,587,000 29,587
= 12,665
= 3,166
Ea 13,756
OXESAL 2CIUI0IH = S
7,000,000& 7,000
04 HSRESS 3,650 3,500 150
4 BRA(RIHY)22N BEERES S 3,650 0 3,650
OXESAH W=RCIUIOIH H=RE=S
1,900,000& 1,900
OXESAH WSIALIUI0IH [UAHESES
1,750,000 1,750
AESAHAE 29 84,980 49,980 35,000
& 4,700
Ea 80,280
201 Ler23 | 20,280 20,280
01 AtR2t2ltl 8,560 8,560
Ogit=3ZH| 8,560
-ARES 7Y S 1,000,000 1,000
AR ADE Y S
1,000,000& 1,000
M U HACT DY
50,000 * 122 600
-JIE2EE AR 50,000& * 122 600
St WEH ZX
15,0003 40~ 123 720
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Selr AFSAEet+= EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—HAEH IR (SADIQ 45)
1,000,002 1,000
DoAY A AR B
110,000 x2CH* 12 2,640
-0 Xt 500,000 500
-SJIEEI] S 500,000 500
2 5234l 8,720 8,720 0
O332= € HAl 4,320
-HIIAEE 250,000& * 128 3,000
—&ol=ZAES 35,0003+ 122 420
-3t HAH| 100,000& %12l 100
-2 RES 50,0002 22 100
-NESAERNE MHEEEE
700,000 700
OAI2EbBI= X 1,000
-HIEAIE S RAEs 1,000,000 1,000
OXtgrdet] 3,400
-EEEU 200,000 x 122 2,400
=Nl 1,000,000& 1,000
03 A2 I 3,000 3,000 0
OXZSAE SAES 300,000& *102] 3,000
301 EtE NS 18,000 18,000 0
= 3,600
= 14,400
14 IIEt2 83 18,000 18,000 0
OXNESAHIEH Y 2SH|
1,500,0002 x1&* 122 18,000
= 3,600
o 14,400
307 212+01& 2,200 2,200 0
[ 1,100
T 1,100
02 LB HAHE L 2,200 2,200 0
OXESAA=UF 2,200,000 %12 2,200
= 1,100
= 1,100
401 AIZHIX S0HH 40,000 5,000 35,000
01 A28l 40,000 5,000 35,000
OXESAIE S 2HBIHE A
250,000 »160m* 40,000
405 KHaHE SH 4,500 4,500
01 TR ESFH SHI 4,500 4,500
OXESAHE AIRA 257Y
4,500,000 4,500
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AR SAHE LS =& 89,720 89,720
201 ZEt2 & 17,500 17,500
01 AFR2t2ltl 17,500 17,500
OgBt===H| 9,000
“TRAZA oY ERE W
1,000& *1,000= 1,000
-NESAES EES ME
1,000,000 *43] 4,000
RIRZAL AAT] 22
3,000&1,000% 3,000
-ANHEEANUE =22 HE
1,000,000& 1,000
Oo2d+g 3,000
-KNESAK DEAMS(HE SFUK)
150,000& 202] 3,000
oY=z 5,500
-NHEEA BENE & M= NFSAAHH
3| XXt 1,500,000& 1,500
-HAaE NFSAK HEg AL S4
Xt 500,000& *4CH 2,000
XA SAH HE 2 SAYR
500,000 *4CH 2,000
202 Ot 4,320 4,320
01 =04 b| 4,320 4,320
ONASAL 243 RF2
90,0002 4~ 123 4,320
203 R F=&] 1,500 1,500
03 AIHF=AI AR 1,500 1,500
OXHASAIEH 2t 3 250,000 *62] 1,500
206 M=l 5,000 5,000
01 =4l 5,000 5,000
OXESAE S HEHI(OIES A, B2S A
&) 5,000,000& 5,000
301 Et2E = 10,400 10,400
11 EAHIXIR S 10,400 10,400
ONASA & - SFuSEAL} AHIB4
2,000,000& 2,000
ONRSAIR HERA, 938 AT 24
100,000& *10H »23] 2,000
OXNOtEel UsEE HE
1,000,000 *23| 2,000
OF2EXNESAM MESn
500,000 *23] 1,000
OXHASAH &2l ot 7,000 200 1,400
OZH? S3HAL I SALL AdIE24
5,000 «400H 2,000
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FA FUS
M FHAANSKE(MEIEX/FHAHEXH)
Bl AHESAtelEeR= (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
-OISHIEAE =A+&bl
2,000,000& 2,000
d= S§ ANESAMEE Ot MHlA X 3,393 3,566 A173
= 1,696
= 509
s 1,188
307 elztol & 3,393 3,566 AT73
= 1,696
< 509
T 1,188
06 2= 3,393 3,566 A173
OXESAA o283 3,393,000 3,393
= 1,696
== 509
o 1,188
HY2HZHI(FLISXW) (DIEHDIIE 90,046 39,976 50,070
[ 29,304
= 5,861
= 54,881
Jl23HI(FeSR ) 39,916 39,976 260
Jl23H(Fe =X n) 39,916 39,976 260
201 Ler23| 25,156 25,156
01 At2teltl 25,156 25,156
Odgt=ZH| 7,600,000& 7,600
O=gtl 17,556,000 17,55
202 04| 9,360 9,420 260
01 =LHOLI 9,360 9,420 260
OJ|2gRd 9,360,000 9,360
203 HR=H] 4,200 4,200
VEPEEEEEST 4,200 4,200
ORH2AAL S| 350,002+ 122 4,200
204 H P4 A | 1,200 1,200
NEEEEEESER 1,200 1,200
ONMB LT
100,000 x1&* 122 1,200
el 2H|(FeI= X 50,130 0 50,130
= 29,304
= 5,861
o 14,965
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[ 29,304
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M ™S AAY|(F01=X D) (OIEHIIED
Sel: QIE2HH|(F=X) (SH9: &)
SA - B GR(31) - HIRAY - BES il &k e HlmS2
101 eI t| 45,280 0 45,280
= 25,424
= 4,891
= 14,965
03 SR (RIAHL) 22 XHES 45,280 0 45,280
Oz &elA 45,280
-JlE2s 31,780,000 31,780
= 25,424
= 4,891
i 1,465
-J|Et==E 13,500,000 13,500
M HSFE=S 4,850 0 4,850
s 3,880
= 970
04 SR (RIHY) 22X BEERES3 S 4,850 0 4,850
Oflgza0&eAr DsEERE2
700,000& 700
s 560
& 140
O 2 ZelAl AHATHHEE =S S
500,000 500
s 400
= 100
Ollz=02&2AL A=RE3
1,900,000& 1,900
s 1,520
& 380
O2za02elAl SHLEBE =
1,750,000& 1,750
s 1,400
= 350
MHRES(FUSX) (BH/BA2Z) 1,097,350 1,013,829 83,521
LIS HHKIZ(F2I=XID) 1,097,350 1,013,829 83,521
LIS HHXIE (21X D) 1,097,350 1,013,829 83,521
701 JIEtS HISEEZ 1,097,350 1,013,829 83,521
01 JIEtSI A =S 1,097,350 1,013,829 83,521
Od=z20II=2EL3H &&=
1,097,350,000& 1,097,350




